MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	2013 Miscellaneous Water Lines, 53 rd Avenue at U.S. 41 and Orlando at U.S. 41	DATE POSTED	MC / TMS 4/4/14 DS / TMS 4/4/14 CC / TMS 4/4/14
PURCHASING REPRESENTATIVE	Olga Valcich, Ext 3055	DATE CONTRACT SHALL BE AWARDED	
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	
SOLICITATION	IFB#13-2705-OV	AUTHORIZED BY DATE	Melissa Wendel , ,2014

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid #13-2705-OV, 2013 Miscellaneous Water Lines, 53rd Avenue at U.S. 41 and Orlando at U.S. 41 to the lowest, responsive and responsible bidder, Harris-McBurney Company, 2120 North US Highway US 301, Tampa, FL 33619 for a total Base Bid of \$301,994.00 (Bid "A") for a completion time of 140 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

- The Work included in this Bid consists of the installation of 6" and 8" ductile iron waterlines and associated appurtenances, including pavement repair, traffic control, jack and bore casing, FDOT requirements and surface restoration. Location of the Work: 53rd Avenue at U.S. 41 and Orlando at U.S. 41. All work on FDOT Right-of-Way shall comply with FDOT Standards, Specifications and requirements.
- Appropriate Bid procedures were followed. Notice of Bid availability was advertised on mymanatee.org, DemandStar and the Manatee Chamber of Commerce.

Three (3) quotes were received:

Hillsborough County Firm	BID "A" (140 Calendar Days)	BID "B" (200 Calendar Days)

Harris-McBurney Company, \$301,994.00 \$301,994.00

Manatee County Firm

 Gator Grading & Paving
 \$474,902.45
 \$442,845.70

 Westra Construction Corp.
 NO BID
 \$655,920.10

On March 3, 2014, the recommendation to award from Public Works Department was received recommending award to the lowest, responsive and responsible bidder Harris-McBurney Company, Tampa, FL for a total base bid of \$301,994.00 based on a 140 (Bid "A") calendar day completion.

The funding source for this project is Utility Rates. Account Code 402-0019604-534000/5000400-0004 (\$101,256.10)53rd Avenue at U.S. 41). Account Code 402-5130740-534000/5130470-0004 (\$200,737.90) Orlando at U.S. 41.

ATTACHMENTS (List in order of attached) • Department Recommendation • Bid Tabulation	FUNDING SOURCE (Acct Number & Name) X Funds Verified
COST \$301,994.00	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)

MEMORANDUM

PUBLIC WORKS DEPARTMENT

Project Management 1022 26th Avenue E. Bradenton, FL 34208



Phone: 941-708-7450 Fax: 941-708-7549 www.mymanatee.org

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management Division Manager

Date:

March 3, 2014

Subject:

2013 Miscellaneous Waterline Improvements

Harris McBurney Company

Recommendation for Award - IFB #13-2705-OV

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "A", with a construction time of 140 Calendar Days be awarded to the lowest responsive, responsible bidder, Harris McBurney in the amount of \$301,994.00 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Kent Bontrager, Project Engineer II if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/kdb

CC:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Kent Bontrager, Project Engineer II Jim Stockwell, Senior Project Engineer

Project File: 402-0019604 9.2

IFB #13-2705-OV
2013 MISCELLANEOUS WATER LINES
(53RD AVENUE WEST @ U.S. 41 AND ORLANDO @ U.S. 41)

	_		1						
						2		Wanton Canada	ration Corn
	BID "A"			Harris-McBurney Company 2120 North U.S. Highway 301	ey Company Highway 301	2704 105th Street East	g & Paving treet East	1263 12th Avenue East	enue East
	140 CALENDAR DAYS			Tampa, FL 33619 (Hillsborough County)	L 33619 h County)	Palmetto, FL 34221 (Manatee County)	FL 34221 County)	Palmetto, FL 34220 (Manatee County)	County)
3RD	53RD AVENUE WEST @ U.S. 41		4		- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1				
	ine item		<u> </u>	Price .	Extended Price	Unit Price	Price	Price	Price
-	8" DI Waterline (CL-350) (Direct Bury)	듀	290	\$57.00	\$16,530.00	\$181.00	\$52,490.00	No Bid	No Bid
2	8" Gate Valve	ΕA	_	\$1,838.00	\$1,838.00	\$2,073.00	\$2,073.00	No Bid	No Bid
ယ	Ductile Iron Fittings	В	900	\$5.10	\$4,590.00	\$3.15	\$2,835.00	No Bid	No Bid
4	Erosion Control	ST	_	\$700.00	\$700.00	\$1,495.00	\$1,495.00	No Bid	No Bid
ر ت	Concrete Curb Replacement	<u></u>	50	\$61.00	\$3,050.00	\$86.60	\$4,330.00	No Bid	No Bid
6	FDOT Asphalt Road Restoration (12" SP 12.5 Base)	SY	25	\$210.00	\$5,250.00	\$356.00	\$8,900.00	No Bid	No Bid
7	FDOT Asphalt Mill & Overlay (1.5" FC 12.5)	SY	350	\$42.00	\$14,700.00	\$51.00	\$17,850.00	No Bid	No Bid
œ	Asphalt Road Restoration (Base & Resurface)	YS	30	\$98.00	\$2,940.00	\$265.00	\$7,950.00	No Bid	No Bid
စ	Asphalt Road Restoration (Mill & Overlay)	ΥS	150	\$86.00	\$12,900.00	\$58.00	\$8,700.00	No Bid	No Bid
5	Pipe Joint Restraints	EΑ	20	\$143.00	\$2,860.00	\$269.00	\$5,380.00	No Bid	No Bid
=	Sidewalk Restoration	YS	30	\$65.00	\$1,950.00	\$98.10	\$2,943.00	No Bid	No Bid
ನ	FDOT MOT Plan and Traffic Control	rs	_	\$6,400.00	\$6,400.00	\$17,325.00	\$17,325.00	No Bid	No Bid
ಪ	Tapping Sleeve & Valve - 20" x 8"	EΑ		\$5,738.00	\$5,738.00	\$21,265.00	\$21,265.00	No Bid	No Bid
4	Sodding	ΥS	50	\$7.20	\$360.00	\$7.25	\$362.50	No Bid	No Bid
	SUBTOTAL				\$79,806.00		\$153,898.50		No Bid
5	Mobilization	S	1	\$5,545.00	\$5,545.00	\$8,760.00	\$8,760.00	No Bid	No Bid
6	Miscellaneous Work and Cleanup	LS		\$6,700.00	\$6,700.00	\$5,905.00	\$5,905.00	No Bid	No Bid
	TOTAL BASE BID				\$92,051.00		\$168,563.50		No Bid
17	Contract Contingency	%	5		\$9,205.10		\$16,856.35		No Bid
	TOTAL CONTRACT AWARD - 53rd Ave. W @ US 41				\$101,256.10		\$185,419.85		No Bid

IFB #13-2705-OV

2013 MISCELLANEOUS WATER LINES

(53RD AVENUE WEST @ U.S. 41 AND ORLANDO @ U.S. 41)

Harris-McBurney Company 2120 North U.S. Highway 301 Tampa, FL 33619 (Hillsborough County)

Gator Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)

Westra Construction Corp. 1263 12th Avenue East Palmetto, FL 34220 (Manatee County)

BID "A" 140 CALENDAR DAYS

								Wolfs.	
No Bia	No	None	*	None	N _C			Aloto:	T
NO DIO	NO	Yes	*	Yes	~			Bid Bond	
No Bid	No.	NO		Yes	<u> </u>			Affidavit for Local Business (if applicable)	
D C	No.	les		Yes	¥.			Public Contracting & Environmental Crimes	
No Bid	No.	COC1224433 & CGC131+102	CUC1224433	CGC1514/83	CGCT			Contractor's License	
No Rid	No.	e CCCAETATOS	T COLORADO	Yes	Y			Contractor's Questionnaire	
No Rid	NO.	5		Yes	X			Florida Trench Safety Act	
Bid	No Bid	Voc		res	Y,			Acknowledged Addendum #1	
Bid	No Bid	Yes	Υ,					CALENDAR DAYS	
No Bid		\$474,902.45		\$301,994.00				GRAND TOTAL (BID "A") - 53RD AVENUE WEST @ U.S. 41 AND ORLAND AVENUE @ U.S. 41 - BASED ON 140	
NO BIO		\$289,482.60		\$200,737.90				_	
No Bid		\$26,316.60		\$18,248.90		10	%		37
NO DIG		\$263,166.00		\$182,489.00					1
	No Bid	\$5,905.00	\$5,905.00	\$8,023.00	\$8,023.00	-1	S	_	3
	No Bid	\$8,615.00	\$8,615.00	\$7,600.00	\$7,600.00		S.		35
	NI DE	\$248,646.00		\$166,866.00					!
No bid	DIG ON	\$360.00	\$12.00	\$216.00	\$7.20	30	SY		32
	No Bid	\$23,396.00	\$23,396.00	\$5,738.00	\$5,738.00		ĒΑ		23 8
	No Bid	\$17,575.00	\$17,575.00	\$12,400.00	\$12,400.00	1	LS		3
No Did	No Did	\$4,042.50	\$5/./5	\$4,550.00	\$65.00	70	SY		31
No Bid	No Bid	\$4,880.00	\$244.00	\$2,760.00	\$138.00	20	ΕA	_	30
No bid	No Bid	\$15,300.00	\$102.00	\$12,900.00	\$86.00	150	SΥ		20
No Dia	No Did	\$15,070.00	\$137.00	\$8,580.00	\$78.00	110	ΥS		<u>بر</u>
No Bid	No Bid	\$15,827.00	\$119.00	\$14,497.00	\$109.00	133	SY	_	27
No old	No Bid	\$5,300.00	\$1,325.00	\$1,700.00	\$425.00	4	ΥS		36
No Bid	No Bid	\$7,213.50	\$80.15	\$5,490.00	\$61.00	90	ፍ	Concrete Curb Replacement	3 3
No Big	No Bid	\$1,500.00	\$1,500.00	\$900.00	\$900.00	-	S		3 6
No Big	No Bid	\$3,205.00	\$3,205.00	\$3,114.00	\$3,114.00	-1	Ē	Belocate Fire Hydrant Assembly	3 2
No Big	No Big	\$4,200.00	\$6.00	\$3,360.00	\$4.80	700	ЕВ		3 -
No Big	No Bid	\$13,711.00	\$13,711.00	\$5,071.00	\$5,071.00	-	Ē	Tonning Sleeve & Valve - 10" x 6"	
No Bid	No Bid	\$2,556.00	\$1,278.00	\$3,040.00	\$1,520.00	2	ΕA		
No Bid	No Bid	\$25,550.00	\$365.00	\$1,750.00	\$25.00	70	F		
No bid	No Bid	\$88,960.00	\$556.00	\$80,800.00	\$505.00	160	ᄕ	-	1 2
Price	Price	Price	Price	Price	Price	Qty	Unit	Line Item	N Tem
Extended	Unit	Extended	Unit	Extended	5			ORLANDO AVENUE @ U.S. 41	ORLA

BID TABULATION

FOR

IFB #13-2705-OV

2013 MISCELLANEOUS WATER LINES (53RD AVENUE WEST @ U.S. 41)

AND

(ORLANDO @ U.S. 41)

BID "A"

BASED ON A COMPLETION TIME OF 140 CALENDAR DAYS

(Project Management) PREPARED BY: REVIEWED BY: PROJECT MANAGEMENT: (Project Engineer) Shanni Robinson, Assessment Coordinator Jim Stockwell, P.E., Project Engineer himer Date

Kent Bontrager, P.E., Project Engineer II

ah- falail

Olga-Valcich, Contract Specialist

APPROVED BY:

(Purchasing)

2/28/14

IFB #13-2705-OV

2013 MISCELLANEOUS WATER LINES

(53RD AVENUE WEST @ U.S. 41 AND ORLANDO @ U.S. 41)

			B						
						2	a e Davina	Westra Construction Corp.	edion Corp
	BID "B"			2120 North U.S. Highway 301	Highway 301	2704 105th Street East	treet East	1263 12th Avenue East	enue East
	200 CALENDAR DAYS			Tampa, FL 33619 (Hillsborough County)	L 33619 h County)	Palmetto, FL 34221 (Manatee County)	-L 34221 County)	(Manatee County)	County)
53RC	53RD AVENUE WEST @ U.S. 41			A CONTRACTOR OF THE SECOND OF					
N item	line Item	<u></u>	ğ	Price	Extended Price	Price	Price	Price	Price
-	8" DI Waterline (CL-350) (Direct Bury)	두	290	\$57.00	\$16,530.00	\$169.00	\$49,010.00	\$95.00	\$27,550.00
2	8" Gate Valve	ΕA		\$1,838.00	\$1,838.00	\$1,935.00	\$1,935.00	\$1,600.00	\$1,600.00
ω	Ductile Iron Fittings	Б	900	\$5.10	\$4,590.00	\$3.00	\$2,700.00	\$2.80	\$2,520.00
4	Erosion Control	LS	-	\$700.00	\$700.00	\$1,392.00	\$1,392.00	\$4,850.00	\$4,850.00
S	Concrete Curb Replacement	듀	50	\$61.00	\$3,050.00	\$81.00	\$4,050.00	\$41.25	\$2,062.50
6	FDOT Asphalt Road Restoration (12" SP 12.5 Base)	ΥS	25	\$210.00	\$5,250.00	\$332.00	\$8,300.00	\$270.00	\$6,750.00
7	FDOT Asphalt Mill & Overlay (1.5" FC 12.5)	ΥS	350	\$42.00	\$14,700.00	\$47.00	\$16,450.00	\$61.50	\$21,525.00
œ	Asphalt Road Restoration (Base & Resurface)	SΥ	ဆ	\$98.00	\$2,940.00	\$247.00	\$7,410.00	\$162.00	\$4,860.00
9	Asphalt Road Restoration (Mill & Overlay)	SY	150	\$86.00	\$12,900.00	\$54.00	\$8,100.00	\$57.85	\$8,677.50
5	Pipe Joint Restraints	ΕA	20	\$143.00	\$2,860.00	\$251.00	\$5,020.00	\$135.00	\$2,700.00
=	Sidewalk Restoration	ΥS	30	\$65.00	\$1,950.00	\$91.50	\$2,745.00	\$58.00	\$1,740.00
12	FDOT MOT Plan and Traffic Control	LS.		\$6,400.00	\$6,400.00	\$16,160.00	\$16,160.00	\$34,445.00	\$34,445.00
ಪ	Tapping Sleeve & Valve - 20" x 8"	ΕA	1	\$5,738.00	\$5,738.00	\$19,835.00	\$19,835.00	\$4,535.00	\$4,535.00
14	Sodding	SΥ	50	\$7.20	\$360.00	\$6.75	\$337.50	\$3.85	\$192.50
	SUBTOTAL				\$79,806.00		\$143,444.50		\$124,007.50
15	Mobilization	ร	-	\$5,545.00	\$5,545.00	\$8,170.00	\$8,170.00	\$17,500.00	\$17,500.00
16	Miscellaneous Work and Cleanup	LS		\$6,700.00	\$6,700.00	\$5,510.00	\$5,510.00	\$132,000.00	\$132,000.00
	TOTAL BASE BID				\$92,051.00		\$157,124.50		\$273,507.50
17	Contract Contingency	%	ő		\$9,205.10		\$15,712.45		\$27,350.75
	TOTAL CONTRACT AWARD - 53rd Ave. W @ US 41				\$101,256.10		\$172,836.95		\$300,858.25

Page 1 of 3

(53RD AVENUE WEST @ U.S. 41 AND ORLANDO @ U.S. 41) 2013 MISCELLANEOUS WATER LINES IFB #13-2705-0V

BID "B" Harris-McBurney Company 2120 North U.S. Highway 301 Tampa, FL 33619 (Hillsborough County) Gator Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)

Westra Construction Corp. 1263 12th Avenue East Palmetto, FL 34220 (Manatee County)

200 CALENDAR DAYS

										37		36	35		34	33	32		30		28										18	ě.	SA SA
Notes:	Bid Bond	Affidavit for Local Business (if applicable)	Public Contracting & Environmental Crimes	Contractor's License	Contractor's Questionnaire	Florida Trench Safety Act	Acknowledged Addendum #1	GRÂND TOTAL (BID "B") - 53RD AVENUE WEST @ U.S. 41 AND ORLAND AVENUE @ U.S. 41 - BASED ON 200 CALENDAR DAYS	TOTAL CONTRACT AWARD - Oriando Ave. @ US 41	Contract Contingency	TOTAL BASE BID	Miscellaneous Work and Cleanup	Mobilization	SUBTOTAL	Sodding	Tapping Sleeve & Valve - 20" x 8"	FDOT MOT Plan and Traffic Control	Sidewalk Restoration	Pipe Joint Restraints	Asphalt Road Restoration (Mill & Overlay)	Asphalt Road Restoration (Base & Resurface)	FDOT Asphalt Mill & Overlay (1.5" FC 12.5)	FDOT Asphalt Road Restoration (12" SP 12.5 Base)	Concrete Curb Replacement	Erosion Control	Relocate Fire Hydrant Assembly	Ductile Iron Fittings	Tapping Sleeve & Valve - 10" x 6"	6" Gate Valve	6" DI Waterline (CL-350) Direct Bury	14" Jack and Bore Steel Casing & 6" RJ DIP CL 350	Line Item	ORLANDO AVENUE @ U.S. 41
									1701	%		LS	ST		YS	EA	ST	SY	EA	SY	SY	SY	SY	ᄕ	LS	ΕA	В	ΕA	E	두	두	Un <u>it</u>	
										70		_	-		30		_	70	20	150	110	133	4	90	-	-	700		2	70	160	Ωŧy	
None	Υ.	*	Υ.	CGC1	X	<u> </u>	Υ					\$8,023.00	\$7,600.00		\$7.20	\$5,738.00	\$12,400.00	\$65.00	\$138.00	\$86.00	\$78.00	\$109.00	\$425.00	\$61.00	\$900.00	\$3,114.00	\$4.80	\$5,071.00	\$1,520.00	\$25.00	\$505.00	Price	-
ne	Yes	Yes	Yes	CGC1514783	Yes	Yes	Yes	\$301,994.00	\$200,737.90	\$18,248.90	\$182,489.00	\$8,023.00	\$7,600.00	\$166,866.00	\$216.00	\$5,738.00	\$12,400.00	\$4,550.00	\$2,760.00	\$12,900.00	\$8,580.00	\$14,497.00	\$1,700.00	\$5,490.00	\$900.00	\$3,114.00	\$3,360.00	\$5,071.00	\$3,040.00	\$1,750.00	\$80,800.00	Price	Eylandad
None	*	2	Yes	CUC1224433 & CGC1514102	Yes	Yes	Yes					\$5,508.00	\$8,034.00		\$11.00	\$21,822.00	\$16,393.00	\$53.85	\$227.00	\$95.00	\$128.00	\$111.00	\$1,236.00	\$74.80	\$1,400.00	\$3,000.00	\$5.45	\$12,788.00	\$1,192.00	\$341.00	\$519.00	Price	Linit
ne	Yes	No	38	CGC1514102	Š	35	35	\$442,845.70	\$270,008.75	\$24,546.25	\$245,462.50	\$5,508.00	\$8,034.00	\$231,920.50	\$330.00	\$21,822.00	\$16,393.00	\$3,769.50	\$4,540.00	\$14,250.00	\$14,080.00	\$14,763.00	\$4,944.00	\$6,732.00	\$1,400.00	\$3,000.00	\$3,815.00	\$12,788.00	\$2,384.00	\$23,870.00	\$83,040.00	Price	Extended
None	Yes	No	Yes	CGC062888	*	Yes	Yes					\$125,000.00	\$17,500.00		\$3.80	\$3,830.00	\$34,445.00	\$58.00	\$115.00	\$57.85	\$71.50	\$87.50	\$1,013.00	\$41.25	\$4,850.00	\$2,210.00	\$2.80	\$3,500.00	\$1,250.00	\$95.00	\$487.00	Price	Lait .
ne	Sé	o	3S	62888	Yes	36	35	\$655,920.10	\$355,061.85	\$32,278.35	\$322,783.50	\$125,000.00	\$17,500.00	\$180,283.50	\$114.00	\$3,830.00	\$34,445.00	\$4,060.00	\$2,300.00	\$8,677.50	\$7,865.00	\$11,637.50	\$4,052.00	\$3,712.50	\$4,850.00	\$2,210.00	\$1,960.00	\$3,500.00	\$2,500.00	\$6,650.00	\$77,920.00	Price	Extended

BID TABULATION

FOR

IFB #13-2705-OV

2013 MISCELLANEOUS WATER LINES (53RD AVENUE WEST @ U.S. 41)
AND

BID "B"

(ORLANDO @ U.S. 41)

BASED ON A COMPLETION TIME OF 200 CALENDAR DAYS

PREPARED BY: PROJECT MANAGEMENT: (Project Engineer) REVIEWED BY: (Purchasing) APPROVED BY: (Project Management) **Sherri Robinson, Assessment Coordinator** Olga-Valcich, Contract Specialist Kent Bontrager, P.E., Project Engineer II Jim Stockwell, P.E., Project Engineer Shinni Kobunson Date